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[3] [A]
M-I (PART - I)
99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)
fdsr : i g7 % v &7 & [ @ag SfEa Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. @6 9BR & & q0eo, e g 1. A type of intelligence test in which

g

|

[

P FHfoAE &R HAA: gl © T T
PR AT BT &

[1] sfssss adierer

[2] sfeRT giEreT

[3] T e

[4] Teqrest aerer

Uk EO-AEEE gEle orEH
faf= argar ) e e & 8
e, Al fawE & A ' R

TR T & e = Je) @
gEn & TiafafeEl & SUEeT e ©

[1] Tg-Headl e
PARCSRELER]

[3] G&hRl ST
[4] AR TfEr™

cev ) B | o [ M 1 oo b M | G [
T & g IUFH F G B 7

[1] ST SarH

[2] JBR IUFH

[3] 9 Hgf UM

[4] FfaSAYeT SUNH

frfafeg & @ @9-ar e &
T ARG @A P AT 78T & 7
[1] I g § &

[2] Sfles § HeH

[3] MU &Faretl O €l &1 5
[4] sraifea et | g

Level-3/913

[

|

the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test
[4] Performance Test

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching

[3] Co-operative learning
[4] Programmed learning

Spranger's classification of
personality is related to which
approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach

Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world

[2] Balance in life

[3] Knowledge of our potentials and

limitations
[4] Free from undesirable worries

P.T.O.
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‘T T [hMT SO ATA-fIar W hiY
fRem & orawmd &far &, @ 98 o
HE TN Bl A2 IR Tehe &Y adl 8l
7E b8 TRR & TAH o F Th
JETET B 7

[1] &= [2] Sferm=

[3] S&qY [4] fereema=

e & e e S &
AIER, ‘G G W 6
A 31, SN Rl HEIES FaRR
%% fharaa & TaT wal ¥, FHedwn
[1] @& ygimEr [2] g Sgie
[3] hiT [4] |

AT dh B B EHAT B w9 H
qReyd R o Ghar ¥ — GaT @
ded, 3 [ER 9 udhipd &, 39
e o 38 yei| &
g’ﬂwg@aﬁww&wﬁmﬁﬁ
?

[1] Sfe Maes

[2] A wd dieX el

[3] GeX ud Argehd

[4] ERaEd
frafofea & & P9-T ofwghy wo=
' Th Toer [afy FEfE ?

[1] TR [2] F&aer

[3] sHEat [4] STE@E

‘TH G B I B GG AT S Fhal
g, fog 9 & f arem =& B =1
TN’ 98 HOF dMERE B 9Ed @
fre fEw & FdT S e ® 7
[1] dcXar & |

[2] T & EH

[3] 991G & |

[4] SEwfishan &1 FEm
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[4]

5.

|®

[~

|

|©

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which
type of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes [2] Basic Instincts

[3] Schema [4] Conservation

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who gave this definition of
emotional intelligence ?

[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson

Which one of the following is not a
direct method for measurement of
attitude ?

[1] Interview [2] Projection
[3] Questionnaire [4] Observation
'A horse can be brought near water,
but cannot be forced to drink." This
statement reveals the truth of
Thorndike's which law of learning ?
[1] Law of Readiness

[2] Law of Exercise

[3] Law of Effect

[4] Law of Multi Responses



10.

frfafag & @ @9-a1 Reer & ')
TETR ?

[1] STERYT &R

[2] & &}

[3] STy WX

[4] RidT &)

11. iafed ¥ § -9 SHH @

TRl & Rid & 9 7@ o ?

[1] =esht foreem
[2] A foeew
[3] "ER fereen
[4] 74 Rreed
I wd g9 HgRT & g § dHiE-a
TH & TeT e ¢

T SR
[1] g S REIN]
[2] 3TEERR - HuE
[3] sne=d - o
[4] \T - U

ERI NI Gl S CE I TG |
HIF-|1 T Faiis IugH © 7

[1] HMEIHT W Fe

[2] qrfoE gedl W ey gfEif
[3] |es TiiaieEl ® e

[4] @St Heei T gre

ARl & AR g e &

ATER, GHM AR [
U Pl AEFRAT & 7

[1] SRR
[2] €IS
[3] SifE®

[4] ST

Level-3/913

[5]

[A]
Which of the following is not a level
of teaching ?
[1] Basic Level
[2] Memory Level
[3] Understanding Level
[4] Reflective Level

11. Which one of the following is not a

part of Bronfenbrenner's Ecological
System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference
to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape
Which way is the most appropriate
for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

According to Maslow's Need

Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal
[2] Social

[3] Intellectual
[4] Emotional



15.

frfofag & & @d9-@1 & SR
Ugal ® YORTHEAT qOEeT § gefd
78 2 ?

[1] STETEROT IWANT |edl H
[2]§%Hﬁﬂﬂzﬁﬁﬁﬁeﬁﬁﬁﬁﬁﬁ

[3] S Gar qedl HE
[4] Y81 ud SFFA el Gl wr

fr=ifofeg & @ ®F-a1 Fa9 Jgas
fafrTareT & ded ¥ @ 7&f e ?

[1] B & & aaf| g a9 e T8
| |

[2] i fafrTan Sr-oTer &=t
q defed & Faar B

[3] Y faftran foee & e
ST &l gfad HY 2

[4] dafr® ERERIY Bad

SATARERT & HROT A el ol

ik AEHI B e fqy ®
S BN He AT & 7
[1] STfqqre [2] gsad

[3] HergTeT 4] &gl

ek TN I GG L et e I
PIFT-H1 T A< HA &G @&l © 7
[1] g R foren

[2] St SR g

[3] G IR we

[4] SeFT SR o

P Risia & e, e |
q BI-91 & B T THR T o ¢

[1] faseemes
[3] Ssifa®

[2] g
[4] @G
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[6]

9.  According

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product improvement related
task

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

17. Who is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?
[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type
of intelligence ?
[1] Analytical

[3] Theoretical

[2] Creative
[4] Practical



Pleds & RIGaar, 98 & &)
P A B, S§ Afowar § @-wiga
A fosia afwfaa & o1 & 2

[1] gd-Sfed

2] &

3] ST-feT

[4] g1 q FE T

21. Hfefad § @ f-9 fearmaen &

22, ki@ STThA

% qE fadvar 787 2 ?

[1] T& wfewor &t eraeer B

[2] T8 STaRAHTreT @ STaer g
[3] T& Tea & G H T B
[4] T& ATTRH B & 2l

8] UrRe  Stiei
Rt B oo G o LU R o r (R G
Y

[1] | wd qFF

[2] o

[3] Esieh

[4] SO Td ded

23. 99 T% MiEd @ ¥ yfaseael &

& & oI HEdr w ]
fFr wmar B, @ g8 fRE yaR @l

g SgEA § 7
[1] fHig=e st
PARECREEISEERIR]
[3] Ff¥era sfawre

[4] TRECHEIE SR

et & +fe faem  Rsagar,
ERIRCES

[1] A aredioesar @l st
[2] TST9 @ Afcrpar ® sTawn
[3] TR Afereedr i ST
[4] T S @ STaw
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[Z]

[A]

According to Kohlberg's theory,
what level of morality is it, when
morality  includes  self-accepted
moral principles ?

[1] Pre-conventional

[2] Conventional

[3] Post-conventional

[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.

[2] Itis period of unrealism.

[3] Itis time for search of identity.
[4] Itis the threshold of puberty.

Who developed the Thematic
Apperception Test for personality
assessment ?

[1] Murray and Morgan

[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio

[3] Fixed interval

[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
is :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

P.T.O.
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Do
e

[1] 80 [2] 90
[3] 100 [4] 110
uF e % w9 § o9 foEnRiar &

SR e I B CCor BT S B |
Frefofad § & @iF-a1 w1 787 v 7

[1] Sicwbar e
[2] 97 I g HTA

[3] wffehar & wcsrar
[4] S9Er RidT 1 IRER

29. @ S ‘&= @ R # T el &,

FE ©

[1] fadikie Hed

[2] NifrEEIsEd

[3] @i

[4] g

@ T I 5 TR H ARERE ©

[2] sTfSta
[4] @IS

[1] s&q
[3] STk

27. What

Which of the following factors
positively affects learning ?

[1] Meaningless content

[2] Lack of maturation

[3] Lack of motivation

[4] Informational feedback

Rohit helps others to get praise. This
is an example of :

[1] Intrinsic Motivation

[2] Extrinsic Motivation

[3] Innate Motivation

[4] None of these

will be the intelligence
quotient of a 15 year old boy, when
his mental age is 12 ?

[1] 80 [2] 90

[3] 100 [4] 110

As a teacher which of the following
work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/913
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[A]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31. WEEEl @ 3 ¥ orgrg e

gﬁﬂ'{ :
[1] T - TS, deTEe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] &Il - MR, IR, MU

32. 9 feq § foame 999 ™ &1 5T

g 7

[1] &5 U M &d S =1ie
[2] A dfT gERY, St @ QR

[3] &9 8 &1 FB TEI e bl
[4] ST I, T & AR

33. ‘UMl gU-9 Il B dEd |

fohe U & FRE-fasiver @1 JERT gam
g 7

[1] IaTe
[2] dfqars
[3] GRRHEES

[4] TS

Level-3/913

34.

qugd s =l & oo e &
3ftc § 7 9F R ¢

[1] €8 - 38 dfed; T8 - d4e
(2] g - T; AT - A
(3] G - Feb; Gl - goaarg
[4] @S - &g; Sao1 -

5. S [ @d d@ R @ A

TR ‘AT I diE-6 6§ &
JETEI B 7

[1] HYeEares qs1

[2] STicErEes de

[3] WEaE® HEl

[4] HieTarereh Hel

36. FTH { BHI-G1 A FYH & ?

[1] TR FEER qE9 3
2] & & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= ¥ % ¥ oY SUTN @

ST BT B 7
[1] STy [2] v
[3] STgeH [4] =ty



[A]

38. U &l gie § oG faehed T ¢

[1] FFhadT -  HHEARA
[2] AfTEmE - ey
3] 9/mr - &

[4] e - T

39. [ foshcy d foerl @ &1 sEnT gan

T 7

[1] grifteY
2] Tags
[3] TR
[4] fFegX

40. =R A UILHH B ghe § ‘o@T

I TH 9 9 9= & s oM ?
[1] 9

[2] 9

[3] <X

[4] =ffeb

41. oI 1 gt 9 oG faehed YT

[1] S - A

2] 9@ - StHE

[3] & - g

[4] @1 - TSET

[10]

42. =H § &9 9= ¥ ‘omET g9 @

SR e g § 7
[1] Riee
[3] gFmEE

[2] @STEe
[4] qUaC

43. TR & e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &<

44. Y 9= § M @A B

[1] st
[2] ggafe
[3] ugEn
[4] 9T
45. ‘TEH-TEHT H T W FFGIT [
g :
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/913



[11] [A]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (iv), (ii1), (i1)
OverIOOked' [2] (1)’ (IV)9 (11)’ (111)
[4] Although he is not cute, but he [3] (iii), (iv), (ii), (i)
cannot be overlooked. [4] (iv), (i), (1), (iii)
41. Change the narration : o )
Kavin said to Mr. Cowper, "Please, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... :
be kind to him. o
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be o
please kind to me. [3] has been raining
[4] Kavin ask.ed Mr. .Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that

form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/913

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



[A]

53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

54. Fill in the blank with the correct

form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[12]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/913
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[A]

- III (PART - III)
A 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o 9T &9 U9 STEIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : e 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

ed & g9 X JA Y I B -
T H WE Jg o1 A Y B WEE
XMW@, @Y & Ye
g Remd & ?

[1] ST

[2] &ferer

3] @@
[4] qf=™

62. Uh T, fhel Fived g0 # &

faem & 3 €¢ #, Safh e 4.5 €¢ H
T F B AR g} @ o= 3
g ger B, @ VG 9@ A W @l
o 8

[1] 10 fopmt ofct et

[2] 12 T Sf et

[3] 13 fehet 9fy et

[4] 15 T fd ger

10.5 |4 Brear & wh oarg @ Men
fgares, 3.5 @4 Brewr qanr 3 &
FIE T B¢ B gigelt F o fa
ST &1 TegER, 39 JHR 99 o B
e fpt arft ?

[1] 112

2] 126

[3] 132 [4] 138

Level-3/913

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North

[2] South

[3] East

[4] West

A boat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph

[2] 12 kmph

[3] 13 kmph

[4] 15 kmph

A metallic sphere of radius 10.5 cm
is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of

cones thus formed is :
[1] 112 [2] 126

[3] 132 [4] 138



[A]

64.

I P TR MNP Thdfs ST @
MR T 3 Iu H THIE AN
aﬁw%ws‘rw,a‘rwaﬁ
qMH T T -

2 1
11 162% 2] 33-%
1] 162 [2] 337

[3] 33%

1865 @RI ® ¥, 660 STISH s T
g AR 1305 R 99 @& 8, Wy
120 &Rp & § § BE W AT el
S @Hd €, O Feaw @ QM A
I T & 7
[1] 220

[3] 120

[4] 50%

[2] 440
[4] 1085

66. TG P HUT F 20% P FH B AN

W TF Tk 800 & H 12.5 fam
qEad e @A AT 8, O aad Bl
qq Hid o e e B 7
[1] 12 593 [2] 14 50
[3] 1550 [4] 16 59

61. [T9ON & TH JNTHA H [OHN,

RS &1 12 TA1 1 ATERA B S
T Bl AR SEH AVES 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

68. [ Uf 1 ST U ST HIOT :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T [2] T2670N
[3] N2676S [4] M2670S

Level-3/913
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64.

If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

2 1
11 162% 2] 33-%
1] 162 [2] 337

[3] 33% [4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak both languages ?
[1] 220 [2] 440
[3] 120 [4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of
rice per kg is :
[1] Rs. 12
[3] Rs. 15

[2] Rs. 14
[4] Rs. 16

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

[1] 2726 [2] 2736

[3] 2796 [4] 2826

Find the next term of the following
series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T [2] T2670N
[3] N2676S [4] M2670S



69. &I @& @ 5, 9, 13 ¥ fouea

N
I

HE UT HIM: 2, 6 A 10 AT T
T U w99 B e ®
[1] 602 [2] 592
[3] 572 [4] 582

Uh FREd f 9 § "PARTICLE"
& "USBQFMDJ" @I "GENERATE"
& "FOFHFUBS" foram omam 8, @ 3@
M H2 9 H, "DOCUMENT" &
for@r ST

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

T Q, P ¥
B 79 P &R & B W H
g T 7
[1] 22 &2
[3] 30 &2

1N ==
(> +y?) &1 A9 ¥ :

[1] 14 2] 12
[3] 13 [4] 16

qefhal @ uH ufth ¥, A St o} 4@
104 &M W q1 B aEi AR q 149
WM W ¥, 9 3 ofu Ruferr weR
e ol 8, al A S ok @ 244
WM W & 6 g, Gke § asfeat @l
ge ot © ?
[1] 31

[3] 37

[2] 25 &<
[4] 35§

J3-1
V3+1’

AT y=

[2] 33
[4] 39

Level-3/913
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69.

72, If «x

[A]
A number when divided by 5, 9, 13
leaves remainder 2, 6 and 10

respectively. The least such number is :

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" is written as
"USBQFMDIJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :
[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

71. A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs
[3] 30 hrs [4] 35 hrs
V3+1 J3-1
= — d =, th th
ol and y NP en the
value of (x+y?) is :
[1] 14 (2] 12
[3] 13 [4] 16

13. In a row of girls, A is 10th from the

left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39



[A]

74. T HMER Th 6]

B 15% T W
ST B, SR 39 I 18 FUY AR
g S B, O SuE " 18% @
Sl 39 a&] 1 %9 9 (B0 H) B ¢
[1] 360 [2] 540
[3] 600 [4] 640

TF FE H e 9000 g, aR gest
P TEEAT e W 5% IR wieanst
H e W 8% & T TH a§ H
%H’Fi@T 9600 &, o J&Si &l e
[1] 3000
[3] 5000

[2] 4000
[4] 5600

D, C @ E § @1 ¥, A, E § ot
T T R, C, Aga=r e, D,B @
aftes @ WEl B, A I q BN
qaY T 8 7
[1] A
[3] C

[2] B
[4] D

T A 39 Al ermel g6 § uf¥em
H AT S T T qA TR @ IR H
&R &l Id @ B, O SEH gl R
fesm & S 7

[1] So-TYo [2] So-Yo

[3] &0 -Yo [4] o -To

Fr=1 dear et &1 oFel W8 ©
3,13, 22, 32, 59, 69, 120, 130, ?

[1] 201 [2] 211

[3] 227 [4] 232

Level-3/913
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A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360 [2] 540

[3] 600 [4] 640

75. The population of a town is 9000. If

the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :

[1] 3000 [2] 4000

[3] 5000 [4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
[3] C

[2] B
[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?
[1] Father
[3] Sister

[2] Brother
[4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W 2] N-E

[3] S-E [4] S-W

The next term of the following
number series is :

3,13,22,32,59, 69, 120, 130, ?

[1] 201 [2] 211

[3] 227 [4] 232



80.

82.

9 s TSl 1 AEd n B, AL I
A ST Gl H MHT ST o
ST, @ S g e 8 SR ?

[1] a8 99 &
[2] 1% gfa &rl
[3] 1.5 @I gis erft
[4] 2 @ g =Brlt

8l. BN & [ WM & i &

O 9y & ded TIOR3 &9

¥ arfergfer fear T © ?

[1] YR TSE & X fHeEm
FeNg SAFIRY

2] TR TEE I AR guRa™
FeIg ARG

[3] X g9eild ST9ERT &R &R
TP geila A9IRTg

[4] SGEX  FEE  AWARYG AR
GIA-2l-3dM aaoild STHIRY

frr=rifhd et W faaR e ¢
() eRAmm § wgE Hen o @l
AT a9 2002 § &t T8 oy

(i) =Y W O eRAen U &
EESERIEIRES D

[1] ®aa (i) T8 B
[2] ®ad (i) &I Bl
[3] (1) TE (i) I @& B
[4] ()T (i) A Tod 2

Level-3/913
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[A]

80. The average of nine consecutive

8l.

82.

numbers is n. If the next two
numbers are also included, the new
average is :

[1] remain the same

[2] increase by 1

[3] increase by 1.5

[4] increase by 2

Which places of Haryana have been
notified as Ramsar site under
Ramsar convention of UNESCO ?

[1] Sultanpur National Park &
Bhindawas Wildlife Sanctuary

[2] Kalesar Park &
Khaparwas Wildlife Sanctuary

National

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (i) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (i1) are incorrect.

P.T.O.



[A]
3.

86.

gRAT % fhe Y @ R off a)
B & &Y F 1 AT S 7

[1] Tou™ PAKSIRIRG

[3] gHaa [4] Fyart

g & MEcied @Rel 3§
?? T T @ NE # & ud
() AT TG B T

(i) S G

(iii) HiHmRat qfeX e

7& FHT B AT HIOT

[1] () &R (i)

[2] (ii) TR (iii)

[3] (i) 9 (i)

[4] (), (i) 3 (i)

85. RN & AR R H SMERYd

glaenet # fowd w0 & fow = A
q H-A deer Freer § 7

[1] BRgA

[2] geT

[3] TaUHSTEeTEEE
[4] e SERT =

Frfafed & @ &M eamm &
T & ERT MgH 787 el o ?

[1] REmm &% Jegus
[2] dSTe U9 BREAOm ST AT
TR

[3] BRI W6 da1 ™R H
(D]

[4] R AFAIEER SRR H 95

Level-3/913

[18]

83.

Which of the city of Haryana is
known as the 'City of War Heroes' ?

[1] Gurugram
[3] Panipat

[2] Sonipat
[4] Bhiwani

84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(1) Sheikh Tayyab's Tomb

(i1)) Shobha Sagar Pond

(ii1)) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (1) and (iii)

[4] (1), (i) and (iii)

85. Which of the following institute is

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

86. Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

e e I B 1 S [ A 2 | =
I T AABIE o7 ?

[1] FIFRT G&T
[2] STogE ol BTl
[3] g+ o Hed
(4] Y TR

TRAR 89 93 qsAr & I) A

frrifoiRad et @l gfex -

(i) ¥& o1 IR H TH THE B
& f Rfd & & ok W
AN & §HE URAN @ Th
O AEING-oTi®  Seed
IR F @ B

(ii) 9% GRAR H TH S bl @l
G e G R | M |t G o
S W ? R weEm (ID) #
S, g U4 Jaied Relgd d
SiigT S|

(iii) AN T @9 ¥ U@ S
H SN AT HeoeR Fiere
¥ @ T 'Y few Smom &R
RAR & @ Aeel @ AU

S A Pl STALIHA 18] Rl
7& FHE F T HIT
[1] e (i) T& B
[2] (i) R (i) @& 2
[3] (i) SR (iii) ¥& 2
[4] (i), (i) 3N (iii) @&

Level-3/913
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81.

[A]

Who among the following Governors

of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all
the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,
death and marriage records.

(i11) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (i1) is correct.
[2] (1) and (i1) are correct.
[3] (ii) and (ii1) are correct.

[4] (1), (i1) and (1i1) are correct.

P.T.O.



[A]

89. BN & TUW & dag H

frrfefad wemt X fer ik

() T& eI F=E [eafEE @
e 2

(ii) 98 T & foell ot @9 & 9 B
qROT P TH ol

(ii)a& shegd T HE  aEEd,
BTN T A B AT B

(iv)32 Gead & S B
wiqae i o< 78t B

S | | DE-AUA I 78 ofs !

[1] (), (i), (iii) 3T (iv)

[2] (i), (iii) T (iv)

[3] ®aa (iii)

[4] (ii) 1R (iii) I

gRAmT & de | iR TS @ Al
i &

[1] 7 3R 4

[2] 10 &R 4

[3] 103IR 5

[4] 128X 5

[20]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(1i1)) He can hold any office of the
profit in the State.

(ii1) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary  power  granted

under the Constitution.

Which of the above statement(s)

1s/are correct ?

[1] (1), (i1), (iii) and (iv)
[2] (ii), (iii) and (iv)
[3] Only (iii)

[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10 and 5

[4] 12 and 5

Level-3/913
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[A]

R - IV (PART - IV)
RS e (PHYSICAL EDUCATION)
3T : R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

9l1.

R & ot 2g &1 fafare & B

[1] sifRT 3

[2] G &

[3] R % &9 F FF B

[4] wiEOREl & @ & oY 698
TS AT

92. AR, ¥ AR e & s & k@

AT & fohom =T /ST B ?
[1] 1oa:|awr§ [2] SGWTi.
[3] 12 o/@®a [4] 11 STaeqT

‘S B AR H X EAHS AW
g

[1] [2] fefea

[3] Yez@ [4] B

Rhad= & MRa a—< =AM BT
2

[1] Safer &

[2] 110 HieX 91 2

[3] 1500 HeX 3

[4] 800 TieX A

95. TN F HHIY H1 o1 B -

[1] ST =aT
[2] AR STgeTTE

[3] &I

[4] samE X T

gAie & o & fee @t @
SMELIHAT Bl B 7
[1] STEA

[3] HicaaH

[2] STRIEN
[4] BIEHRE

Level-3/913

9l.

Specific function of long bone in the

body is to :

[1] Give strength

[2] Give protection

[3] Act as lever

[4] Provide
attachment

surface for muscle

92. How many stages are in Yoga for the

purification of Body, Mind and Soul ?
[1] 10 stages [2] 8 stages
[3] 12 stages [4] 11 stages

93. The anatomical name of 'Thigh

Bone'is :
[1] Fibula [2] Tibia
[3] Radius [4] Femur

The Final event of Decathlon is
always :

[1] Javeline Throw

[2] 110 Meter Hurdles Race

[3] 1500 Meter Race

[4] 800 Meter Race

95. The meaning of Samadhi in yoga is :

[1] Self realization

[2] Individual discipline
[3] Meditation

[4] Breath control

needed to
manufacture haemoglobin ?

[1] Iron [2] Iodine

[3] Calcium [4] Phosphorus
P.T.O.

Which mineral is



[A]
91.

ARG § TS @9 a9 &9 79
S B 7

[1] 29 oFRG

[2] 26 TR

[3] 29 fHa=r)

[4] 26 [T

‘T3 HT fhg T T Gefg B 7
[1] 2l [2] T
[3] Gea [4] Sefired

99. faaift ‘@’ (K) fras ford st 8 7

[
o

(=]
el

[
N

[
w

[1] &= & o’
[2] offEt & R
[3] &1 df&
[4] W & 9@ & g

‘wfelT HY fFE 9 § Hetg § 7
[1] Sefes [2] 2l

[3] @ [4] et
T X A 9 Rew @ gkl &
fgeme e & 9t e & R
@ H ST S 7

[1] SRS Teger

(2] STEERlE® TR

3] ST TR

[4] @M & A

qfee ariete § e @ e
Bl B

[1] 2.52 HeX  [2] 2.24 HieX
[3] 2.63HEX  [4] 2.35 "X
HV-G Hepd SR STAias’ b A
q S I B ?
[1] fees®

[3] &

[2] TgH
[4] &ET

Level-3/913
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91.

When the national sports day is
celebrated in India ?

[1] 29 August

[2] 26 August

[3] 29 September

[4] 26 September

'Merdeka Cup' is associated with :
[1] Hockey [2] Golf
[3] Football [4] Badminton

Vitamin 'K' is necessary for :

=
(=]

et
[t

=
N

=
w

[1] Skin
[2] Eye
[3] Growth of hairs
[4] Blood Clotting

'Swethling Cup' is associated with :
[1] Badminton [2] Hockey
[3] Tennis [4] Table Tennis

A muscle contraction performed

against a fixed or immovable
resistance is known as :

[1] Isotonic contraction

[2] Isometric contraction

[3] Stimulus frequency

[4] Exercise volume

In woman volleyball, the height of
netis ......... .

[1] 2.52 meter
[3] 2.63 meter

[2] 2.24 meter
[4] 2.35 meter
Which communicable disease 1is
known as "Hydrophobia" ?
[1] Tetanus [2] AIDS

[3] Rabies [4] Tuberculosis



104.

[
(=

[
(L]

[
[

[
ol

TEH od BR 6 & & 9w
el off ?

[1] 2t PSS

[3] Ssfres [4]

gﬂeﬁw oA % 9= 'ALTIUS' &1 31

[1] [2] SRSt

[3] AT [4] T¥qle

ged @l |y ©

[1] 5t ol [2] g oweig

(3] f& oneim [4] d=d

HIecs UITeTr fafer Sge e B
[1] FeasieaT & fgre |

[2] 9T & [ |

[3] TEY & o o

[4] 7y & foera &

ARAI SAAH T H T H I ?
[1] 1927 ¥ [2] 1952 ¥

[3] 1947 ¥ [4] 1972 #
TSRAN ST B SR gt f6d
a9 7 g& g8 €1 ?

[1] 1951 [2] 1952

[3] 1953 [4] 1954

e i & A gs9 ofest
Mg /TET ®

[1] Thal @ [2] dfe

[3] SEIABR  [4] FABR

17 5 A S R R B e B |
e | I%T /AT A B ?

[1] 20 gfcsra

[2] 25 9f9d T HW

[3] 30 9fcerd Td HW

[4] 35 Ufa9d Td S

Level-3/913
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104.

=
(=4

=
O

ot
ot

el
e

[A]

Rajkumari Amrit Kaur was the
outstanding player of which game ?
[1] Hockey [2] Volleyball

[3] Badminton [4] Tennis

Olympic Motto 'ALTIUS' mean :

[1] Faster
[3] Higher

[2] Stronger
[4] Athlete

Knee joint is :
[1] Multi axial
[3] Bi axial

[2] Uni axial
[4] Saddle

Fartlake training method is used :
[1] To develop Endurance

[2] To develop Strength

[3] To develop Flexibility

[4] To develop Speed

When  the Indian  Olympic
Association was formed ?

[1] In 1927 [2] In 1952

[3] In 1947 [4] In 1972

Rajkumari Amirt Kaur Coaching
Scheme was started in the year :

[1] 1951 [2] 1952
[3] 1953 [4] 1954
The most ideal formation for

teaching skill is :
[2] File
[4] Circle

[1] Single line
[3] Semi circle

What percentage of body fat makes
man obese ?

[1] 20 percent

[2] 25 percent and above

[3] 30 percent and above

[4] 35 percent and above



b

1
112,

(=]
[

HV-T1 fheag ged @R gaEd

fpeq 7&F 7 o ® 7

[1] Hger

[2] R G

[3] &3&T-998 Fesiad

[4] =

AW F AN R TEENE ol

(=) i fhe o 7 IRafd B ©

[1] S FHe

[2] TRA] FHeit

[3] FiFee St

[4] feega =i

;?éo To Hlo Qo' &I WWUAT % &3
?

[1] 1914 [2] 1920

[3] 1896 [4] 1924

JriR® FeR Tfafafy Femd fhas STEn
BN J&d% &7 § Gufed el & °

[1] TR ISfd

[2] Y&sH gsfa

[3] Tqe-FefRe srv e s

[4] forem-famst gsfa

fr & @ 3w fgafe o §
geesid & 7

[1] foefm & [2] o 2

[3] foefe ‘@ [4] fete @

T% To do Go & o7 vt B ?
[1] 9 TR R @ wiehe
e

2] & @ARM R dF wiEe
e
[3] T TEAIRM SR @ wiede

e
[4] TF WARE &R d9 wEe
e

Level-3/913
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112.

et
[t

Which fitness component is not
considered to be health related fitness ?
[1] Balance

[2] Body composition

[3] Cardio-respiratory endurance

[4] Flexibility

The person exercising is converting
chemical energy (Food) into :

[1] Thermal energy

[2] Nuclear energy

[3] Mechanical energy

[4] Electrical energy

When "YMCA' was formed ?

[1] 1914 [2] 1920

[3] 1896 [4] 1924

Mass physical activity classes are
better organized by the use of :

[1] Command method

[2] Demonstration method

[3] Group-directed practice method
[4] Discussion method

Which vitamin is dissolve in water ?
[1] Vitamin'B' [2] Vitamin'E'
[3] Vitamin 'K' [4] Vitamin'A'
One A.T.P. consist of :

[1] Three adenosine and one
phosphate group

[2] Two adenosine and three
phosphate group

[3] One adenosine and two
phosphate group

[4] One adenosine and three
phosphate group



[25] [A]

118. 1930 3 9¥9 TIETIW T Fal gl 118. The first Common Wealth Games
g7 was held in 1930 at :
[1] TeHeA [2] HEH [1] Edmonton  [2] Cardiff
[3] fees [4] Bfres [3] Kingston  [4] Hamilton
119. @R FFAR X THT S ® ¢ 119. Health is generally understood to be :
[1] A¥G HET B NEis [1] Quality of human organism
[2] X A 79 H geedi [2] Soundness of body and mind
[3] sERT AR faepatimar | ﬂﬁ\"[ [3] Freedom from disease and
deformities
[4] AT JOTr &l HATHS oI [4] Functional efficiency of the
organs system
120. 39 Ul qeh ofiaids @l d SmRad 120. When the solid gold medals were
TN FHI AW F? last given in the Olympic ?
[1] 1908 [2] 1912 [1] 1908 [2] 1912
[3] 1916 [4] 1920 [3] 1916 [4] 1920
121, Hieqsi Hﬂ\gﬂ?{ 4 59 AUt H 9 121. During contraction when the length
EE| %, a Hq\gd*l T e & 7 of muscle increases it is called :
[1] febfeg Hege [1] Eccentric contraction
[2] Hebigsh e [2] Concentric contraction
[3] ARSI Heger [3] Auxo-tonic contraction
[4] Re” wieusth H’c\lﬁ? [4] Static-Muscle contraction
122. qieUeiy Uew = | 9 fhae & @ 122. Muscle cramps are caused due to the
FHRT BIeHl & 7 deficiency of :
[1] Pfcezm [2] BT [1] Calcium [2] Phosphorus
[3] |fETm [4] FfrE [3] Sodium [4] Magnesium
123. HM9 HARASH & ST EE)) few 2 : 123. Largest part of human brain is :
[1] asH [1] Cerebrum
2] e gy [2] Pituitary Gland
3] fafer ai [3] Visual Lobe
[4] HeX e [4] Motor Unit

Level-3/913 P.T.O.
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b

1

124. /91 & @ FF-T1 HY TEES A

[
N

[
N

[
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Which of the following statement is

Jalse about Ascorbic acid ?

[1] Ascorbic acid is a natural water
soluble vitamin.

[2] Itis a antioxident agent.

[3] It does not participate in fighting
bacterial infection.

[4] It
collagen in fibrous tissue.

works for formation of

Pierre the Coubertin Medal is award
for :

[1] Sportsmanship

[2] Sports achievement

[3] Talented athletes

[4] Disciplined team

Thyroid gland is situated :

[1] At the top of each kidney
[2] Below the stomach

[3] In pelvic cavity

[4] In throat

The ability to do movement involving
large number of muscles, at a slow pace
for prolonged period is known as :

[1] General Endurance

[2] Basic Endurance

[3] Specific Endurance

[4] Long time Endurance

In sports psychology mental practice
means :

[1] Mental planning

[2] Mental rehearsal

[3] Mental strategy

[4] Mental image
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[1] 8 #HiexX
[2] 10 HeX
[3] 12 HieX
[4] 14 Hex
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[A]

Skeletal
covered with :

muscle fasciculus are

[1] Endomysium
[2] Epimysium
[3] Perimysium

[4] Endo-epimysium

Ballastic method is used to develop :

[1] Coordinative ability
[2] Endurance
[3] Flexibility

[4] Reaction time

Sit and Reach test is used to
measure :

[1] Muscular strength

[2] Cardio-vascular endurance

[3] Flexibility

[4] Power

The force resisting the relative
motion of surface sliding against
each other is called :

[1] Friction
[2] Coupling
[3] Impulse
[4] Drag

In 4 X 100 meter relay race, the
acceleration zone is :

[1] 8 meters
[2] 10 meters
[3] 12 meters
[4] 14 meters
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Which is not a symptom that
indicates towards overload ?

[1] Colour of skin strongly red

[2] Feeling weakness in muscles

[3] Profused sweating

[4] Pleasant feeling

The cash prize associated with Major
Dhyan Chand Ratna Award is :

[1] 10,00,000

[2] 9,00,000

[3] 8,00,000

[4] 25,00,000

2024 Summer Olympic games will
be held at :
[1] Paris

[3] Beijing

[2] Tokyo
[4] Los Angeles
The main purpose of the pre-game

meal is to provide the athlete with
adequate :

[1] Protein
[3] Vitamin

[2] Carbohydrate
[4] Fat

Which is defined as the motor
procedure for tackling a motor task ?

[1] Skill [2] Technique

[3] Style [4] Tactics

In which city the pull of gravity
affects the most in the sports
performance ?

[1] Delhi [2] Oslo

[3] Mexico [4] Canberra
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[A]
The instrument for recording the
work done by a muscle or group of
muscles is known as :
[1] Electromyography
[2] Stadiometer
[3] Dynamometer
[4] Manometer
Energy containing organic chemicals

formed as a result of the incomplete
breakdown of fat is called :

[1] Ketosis [2] Ketones
[3] Lactic acid [4] Liposis

Where the first Central Sports

University of India is established ?
[1] Imphal [2] New Delhi

[3] Bhopal [4] Shillong
Change in place or position of an
object or body is called :

[1] Force [2] Motion

[3] Friction [4] Momentum

An injury to a ligament resulting

from overstress is known as :
[1] Sprain [2] Strain

[3] Contusion [4] Haematoma

The dimension of Basketball Court
1S :

[1] 28 m X 15 m
[2] 24 m X 14 m
[3] 26 mXx 18 m
[4] 28 m X 16 m
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When an athlete wuses several
different types of steroids at the
same time, it is known as :

[1] Cycling [2] Stacking

[3] Pyramiding [4] Mixing
The ability to maintain maximum

speed  for
duration or distance is :

maximum  possible

[1] Speed duration

[2] Locomotor ability
[3] Movement Speed
[4] Acceleration ability

Carbohydrate loading is effective
for :
[1] events 30

Anaerobic upto

seconds
[2] Anaerobic events upto 1 to 2
minutes
[3] Endurance performance 5 to 10
minutes
[4]

Endurance performance more
than 30 minutes

Which of the following is not a test
item of Oregon Motor Fitness Test ?
[1] Standing Long Jump

[2] Floor Push-ups

[3] Sit-ups

[4] Zig-Zag run

"Three second rule' is associated with
which of the following game ?

[1] Badminton [2] Ice hockey

[3] Basketball [4] Table Tennis
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6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.
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. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)
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¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)
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JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)
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¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)
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